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QUESTION 1

In a Manufacturing Cloud post production support environment, a user wants to update some of the 

operations in the work orders by using the Midpoint Scheduling feature. However, the user is unable to 

update any of the orders. 

Identify two reasons. 

A. The work order operations do not have operations start or completion date. 

B. The scheduled resources are not part of the organization selected by the user. 

C. None of the operations include scheduled resources. 

D. The operations are missing sequence. 

Correct Answer: CD 

 

QUESTION 2

In a manufacturing plant, two purchase components P1 and P2 and a resource R1 are required to assemble a product.
The cost of the assembly is calculated by using the standard costing method. The work definition and resource rates of
the assembly have been defined as required. A cost accountant is estimating cost of the assembly, analyzing rolled-up
costs before finally publishing estimates as frozen standards to cost accounting by using a cost planning scenario. While
reviewing rolled up costs, the extended costs of purchase components are not included in a rolled-up scenario. Identify
the reason. 

A. Purchase components P1 and P2 are not associated with Material cost plan of the cost planning scenario. 

B. Costs for purchase components P1 and P2 are not defined in cost accounting. 

C. Create Accounting was not initiated. 

D. Create Accounting Distributions was not initiated. 

Correct Answer: D 

 

QUESTION 3

One of the key execution capabilities that Oracle Manufacturing Cloud offers is that you can generate and 

manage work order exceptions. 

Which option shows the production exception types that can be reported by the production operator? 

A. Work Area, Work Center, and Resources 

B. Work Center and Resources 
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C. Resources and Components 

D. Work Area, Work Center, Resources, and Components 

E. Work Area, Work Center, Resources, Components, and Miscellaneous 

Correct Answer: C 

 

 

QUESTION 4

A Production Supervisor queries a Work Order (WO-1025) from the manage Work Orders page. On the 

Entering Edit Work Order: WO-1025 page, he finds General Information, Operations and History tab, but 

not the Reservations tab. 

Identify the two reasons that can cause the Reservations tab not to be displayed. 

A. Work Order (WO-1025) is not a Configured item Work Order. 

B. Work Order (WO-1025) is not a Back-to-Back Work Order. 

C. Work Order (WO-1025) is not a Drop-Ship Work Order. 

D. Work Order (WO-1025) is not a Pick-to-order Work Order. 

E. Work Order (WO-1025) is not a Plan-to-produce Work Order. 

Correct Answer: AC 

 

QUESTION 5

An employee is responsible for dealing with different manufacturing practices and processes, machines, tools and
equipment that turn raw material into a product. Which seeded job role must this employee be provided with? 

A. Manufacturing Engineer 

B. Production Engineer 

C. Production Operator 

D. Manufacturing Supervisor 

E. Production Supervisor 

Correct Answer: A 
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